

Description:

PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/15/2025 2:26:16 PM

General Details

 Parcel ID:
 475-0010-05990

 Document:
 Abstract - 01080247

Document Date: 02/25/2008

Legal Description Details

Plat Name: NEW INDEPENDENCE

SectionTownshipRangeLotBlock365217--

SE1/4 OF NW1/4 EX HWY EASEMENTS

Taxpayer Details

Taxpayer Name LUCZAK CHESTER L

and Address: 5982 HWY 53

CULVER MN 55779

Owner Details

Owner Name LUCZAK CHESTER L
Owner Name LUCZAK LAURIE J

Payable 2025 Tax Summary

2025 - Net Tax \$2,491.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$2,576.00

Current Tax Due (as of 12/14/2025)

| Due May 15 | | Due October 15 | | Total Due | | |
|--------------------------|------------|--------------------------|------------|-------------------------|--------|--|
| 2025 - 1st Half Tax | \$1,288.00 | 2025 - 2nd Half Tax | \$1,288.00 | 2025 - 1st Half Tax Due | \$0.00 | |
| 2025 - 1st Half Tax Paid | \$1,288.00 | 2025 - 2nd Half Tax Paid | \$1,288.00 | 2025 - 2nd Half Tax Due | \$0.00 | |
| 2025 - 1st Half Due | \$0.00 | 2025 - 2nd Half Due | \$0.00 | 2025 - Total Due | \$0.00 | |

Parcel Details

Property Address: 5982 HWY 53, SAGINAW MN

School District: 2142
Tax Increment District: -

Property/Homesteader: LUCZAK, CHESTER & LAURIE

| Assessment Details (2025 Payable 2026) | | | | | | | | | | | |
|--|--|----------|-----------|-----------|-----|-----|------|--|--|--|--|
| Class Code (Legend) | | | | | | | | | | | |
| 201 | 1 - Owner Homestead (100.00% total) | \$50,300 | \$278,600 | \$328,900 | \$0 | \$0 | - | | | | |
| 111 | 0 - Non Homestead | \$47,100 | \$0 | \$47,100 | \$0 | \$0 | - | | | | |
| | Total: | \$97,400 | \$278,600 | \$376,000 | \$0 | \$0 | 3591 | | | | |



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/15/2025 2:26:16 PM

Land Details

 Deeded Acres:
 39.08

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

| ot Width: | 0.00 | | | | | | | | | |
|-----------------------------|-----------------------|-----------------|---------------------|----------------------------|-----------------|-------------------------|--|--|--|--|
| t Depth: | 0.00 | | | | | | | | | |
| e dimensions shown are n | ot guaranteed to be s | survey quality. | Additional lot | information can be | e found at | T 0 4 1 1 | | | | |
| tps://apps.stlouiscountymn. | .gov/webPlatsiframe/i | · | | | | lax@stlouiscountymn.gov | | | | |
| | | - | | etails (HOUSE | • | | | | | |
| Improvement Type | Year Built | Main Flo | | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| HOUSE | 1987 | 1,8 | | 2,316 | - | - 1S+ - 1+ STORY | | | | |
| Segment | Story | Width | Length | | | Foundation | | | | |
| BAS | 1 | 0 | 0 | 588 | FLOATING | | | | | |
| BAS | 1 | 12 | 24 | 288 | FLOATING | | | | | |
| BAS | 1.5 | 0 | 0 | 960 | FLOATING | | | | | |
| OP OP | 1 | 5 | 24 | 120 | POST ON (| | | | | |
| Bath Count | Bedroom Co | | Room C | ount | Fireplace Count | HVAC | | | | |
| 2.0 BATHS | 3 BEDROOM | | - | | 0 | CENTRAL, PROPANE | | | | |
| | | Improvem | ent 2 Deta | ails (POLE BLI | DG) | | | | | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| POLE BUILDING | 0 | 2,10 | 60 | 2,160 | - | - | | | | |
| Segment | Story | Width | Length | Area | | Foundation | | | | |
| BAS | 1 | 36 | 60 | 2,160 | FLOATING | FLOATING SLAB | | | | |
| | | Improveme | nt 3 Detai | ils (DET GARA | (GE) | | | | | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| GARAGE | 1987 | 88 | 4 | 884 | - | - DETACHED | | | | |
| Segment | Story | Width | Length | Area | Founda | ation | | | | |
| BAS | 1 | 26 | 34 | 884 | FLOATING | G SLAB | | | | |
| LT | 0 | 4 | 20 | 80 | FLOATING | G SLAB | | | | |
| | | Improvem | ent 4 Deta | ails (POOL DE | CK) | | | | | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| | 0 | 40 | 3 | 403 | - | - | | | | |
| Segment | Story | Width | Length | Area | Founda | ation | | | | |
| BAS | 0 | 0 | 0 | 403 | POST ON (| GROUND | | | | |
| | | Improvem | ent 5 Deta | ails (ALPACA | BN) | | | | | |
| Improvement Type | Year Built | Main Flo | | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| POLE BUILDING | 0 | 24 | .0 | 240 | - | - - | | | | |
| Segment | Story | Width | Length | Area | Founda | ation | | | | |
| BAS | 1 | 12 | 20 | 240 | POST ON (| POLIND | | | | |



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/15/2025 2:26:16 PM

| Improvement 6 Details (HOOP ST) | | | | | | | | | |
|-----------------------------------|-----------------------------------|----------------------------|--------------------|----------------------------|------------------------|--------------------|--|--|--|
| | V 5 11 | - | | `` | | 0.1.0.1.0.0 | | | |
| Improvement Type | Year Built | Main Floor Ft ² | | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| STORAGE BUILDING | 0 | 288 | | 288 | - | - | | | |
| Segment | Story | Width Length Area | | Foundati | | | | | |
| BAS | 1 | 12 | 24 | 288 | POST ON GR | OUND | | | |
| | | Improver | ment 7 D | etails (8X10 ST) | | | | | |
| Improvement Type | Year Built | Main Flo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| STORAGE BUILDING | 0 | 80 | | 80 | - | - | | | |
| Segment | Story | Width | Length | Area | Foundati | on | | | |
| BAS | 1 | 8 | 10 | 80 | POST ON GR | OUND | | | |
| | | Improveme | nt 8 Deta | ails (WOODSHE | D) | | | | |
| Improvement Type | Year Built | Main Flo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| STORAGE BUILDING | 0 | 80 | | 80 | <u>-</u> | • - | | | |
| Segment | Story | Width | Length | Area | Foundati | on | | | |
| BAS | 1 | | | 80 | POST ON GR | OUND | | | |
| | | | | etails (PATIOS) | | <u> </u> | | | |
| Improvement Type | Year Built | - | or Ft ² | Gross Area Ft ² | | Style Code & Desc. | | | |
| improvement Type | 0 | 468 | | 468 | - | TLE - TILE | | | |
| Segment | Story | Width | - | Area | Foundati | | | | |
| BAS | 0 | 0 | 0 | 324 | i oundati | on | | | |
| BAS | 0 | 12 | 12 | 324 144 | - | | | | |
| DAS | <u> </u> | 12 | 12 | 144 | <u> </u> | | | | |
| | | - | | etails (8X26 ST) | | | | | |
| Improvement Type | Year Built | | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| STORAGE BUILDING | 0 | 208 | 3 | 208 | - | - | | | |
| Segment | Story | Width | Length | Area | Foundation | | | | |
| BAS | 0 | 8 | 26 | 208 | POST ON GR | OUND | | | |
| | | Improvem | nent 11 D | etails (8X40 ST) | | | | | |
| Improvement Type | Year Built | Main Flo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| STORAGE BUILDING | 0 | 320 |) | 320 | - | - | | | |
| Segment | Story | Width | Length | Area | Foundati | on | | | |
| BAS | 0 | 8 | 40 | 320 | POST ON GR | OUND | | | |
| | | Improvem | ent 12 D | etails (8X18 ST1 |) | | | | |
| Improvement Type | Year Built | Main Flo | | Gross Area Ft ² | , Basement Finish | Style Code & Desc. | | | |
| STORAGE BUILDING | 0 | 144 | | 144 | - | - | | | |
| Segment | Story | Width | Length | | Foundati | on | | | |
| BAS | 0 | 8 | 18 | 144 | POST ON GR | | | | |
| 27.0 | | | | | | | | | |
| Improvement 13 Details (8X18 ST2) | | | | | | | | | |
| Improvement Type | Year Built | Main Flo | | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| STORAGE BUILDING | 0 | 144 | | 144 | - | - | | | |
| Segment | Story | Width | Length | | Foundati | | | | |
| BAS | 0 | 8 | 18 | 144 | POST ON GR | OUND | | | |
| | Improvement 14 Details (8X18 ST3) | | | | | | | | |
| | | | | | | | | | |
| Improvement Type | Year Built | Main Flo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/15/2025 2:26:16 PM

| Segme | Segment Story | | Length | Area | Foundation | | | |
|-------------------|--|------------------------|-------------------------------------|--------------------------|---------------------|--------------------|---------------------|--|
| BAS | 0 | 8 | 18 | 144 | POST ON GROUND | | | |
| | | Improve | ment 15 Deta | ails (8X12 ST) | | | | |
| Improvement Typ | oe Year Buil | t Main Fl | oor Ft ² Gro | oss Area Ft ² | Basement Finish | Styl | e Code & Desc. | |
| STORAGE BUILDII | NG 0 | 90 | 6 | 96 | - | | | |
| Segme | ent Sto | ry Width | Length | Area | Foundation | | | |
| BAS | 0 | 8 | 12 | 96 | POST ON GROUND | | | |
| | | Sales Reported | to the St. Lo | ouis County Aud | itor | | | |
| No Sales informa | ation reported. | | | | | | | |
| | | A | ssessment H | listory | | | | |
| Year | Class Code (<mark>Legend</mark>) | Land EMV | Bldg EMV | Total EMV | Def Land EMV | Def Bldg EMV | Net Tax Capacity | |
| 2024 Payable 2025 | 201 | \$50,300 | \$269,600 | \$319,900 | \$0 | \$0 | - | |
| | 111 | \$47,100 | \$0 | \$47,100 | \$0 | \$0 | - | |
| | Tota | \$97,400 | \$269,600 | \$367,000 | \$0 | \$0 | 3,492.00 | |
| | 201 | \$43,600 | \$244,400 | \$288,000 | \$0 | \$0 | - | |
| 2023 Payable 2024 | 111 | \$39,700 | \$0 | \$39,700 | \$0 | \$0 | - | |
| | Tota | \$83,300 | \$244,400 | \$327,700 | \$0 | \$0 | 3,164.00 | |
| | 201 | \$36,700 | \$233,700 | \$270,400 | \$0 | \$0 | - | |
| 2022 Payable 2023 | 111 | \$37,900 | \$0 | \$37,900 | \$0 | \$0 | - | |
| | Tota | \$74,600 | \$233,700 | \$308,300 | \$0 | \$0 | 2,954.00 | |
| 2021 Payable 2022 | 201 | \$36,700 | \$213,200 | \$249,900 | \$0 | \$0 | - | |
| | 111 | \$37,900 | \$0 | \$37,900 | \$0 | \$0 | - | |
| | Tota | \$74,600 | \$213,200 | \$287,800 | \$0 | \$0 | 2,731.00 | |
| | | | Tax Detail His | story | | | | |
| Tax Year | Tax | Special Assessments | Total Tax & Special Assessmen | • | Taxable Bu MV MV | | otal Taxable M\ | |
| 2024 | \$2,577.00 | \$85.00 | \$2,662.00 | \$81,586 | \$234,79 | 94 | \$316,380 | |
| 2023 | \$2,565.00 | \$85.00 | \$2,650.00 | \$72,849 | \$222,54 | 17 | \$295,396 | |
| | | | | | | | | |

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.

\$2,732.00

\$72,434

\$200,617

2022

\$2,647.00

\$85.00

\$273,051